I ZHOHF
(83) h)Fa5L%F

DLEFE - HERIR (SHIEEAZER)
o o 7 g % 4 | msm _Zfﬁ@iﬁ
N2k = A NG T e A i 30 30
ANRBfREaIa=r—T a1 it 30 30
A AR LT 2=—tay ABBRE oI 2= — a1 T 30 30
G F =LV R A TS 30 30
& HEoEfE 1 -0 e 30 30
tE e aommig RO 1 -@ i |30 30
= *EE O 1T #s | 30 30
A& IZ B9 538 IE fthag BRAR L B F AT D FEAR it 30 30
A EE(240) 240 150 90
NHEOIEART-O it 30 30
NHEDOIEART-O it 30 30
s NHEOFEAT-O S 30 30
Ik DA SO IAT w5 | 30 | 30
NEOILARTI s 30 30
NEDOIEARV s 30 30
e Ao —ar i 1 HE 30 30
R A B aXa=h— v i I wE [ 30 30
AETE SRR BN 1 T 60 60
AETE SR BT 1 T 60 60
AR SR BT T 60 60
AETE BRI AEVE SR ARV T 30 30
o HEVE SRRV T 30 30
L N RV ke 30 30
AETE ST BT VI T 30 30
iR 1 -0 T 30 30
It i 2 ®) T 60 60
AR AR 11 bt 60 60
R ATEE -0 bR 30 30
S B NHERATHE 1-O bR 30 30
IR AT 1 bt 30 30
IR AT ﬁi 1 bt 30 30
NEFEE 1-0O eSS 120 120
it ges NHEFEE 1-Q eSS 160 160
=S e 200 200
/o EE(1,260) 1,290 730 560
ZIAENBTEDLL T -Q Hisis 30 30
il - ZIAENLEDLLA 1@ T 30 30
o [FEAERREOLA ZIAENLEDLL A Mz | 30 30
’7; ZIAENBEDOLL A s 30 30
N " FEFELEALOTERE 1 HE 30 30
7?\ FELZALDOBE FEEEALOIRAE T bt 30 30
gl ., FRAE D B T 1 30 30
OL) FERVED TR B HE O FLAR 1T wE | 30 30
< s . P OBEAE 1 s 30 30
o O S | 30 30
/o (300) 300 180 120
= EFRHI T 1 i 68 68
; T EH T I {3 60 60
7 /N FE(50) 128 68 60
& Bt (1,850) 1,958 1,128 830

1,958




I ZHOHXE
(3) hyFacLE
DLEFE - HERIR  (FHOCEEAFER)
o o 7 g % 4 | msm _Zfﬁ@iﬁ
N2k = A NG T e A i 30 30
ANRBfREaIa=r—T a1 it 30 30
b NIRRT 2= —o o T-O (Faf) | W | 30 30
) |NHRREER = R T @R | weE | 30 30
Ff F— LR A it 30 30
4t 2 1 -0 i | 30 30
£ (Ao HEOHMR 1 -0 e 30 30
OB 1T it 30 30
AR EREIZBE T 53R E R KRR [ B AR e 30 30
A EF(240) 270 150 120
MDA T it 60 60
e NHEOIEART e 60 60
Ik DA IR (RN ) S | 30 | 30
NHEDOHARI (VYT —Ta0) s 30 30
e e a2 = — a1 o 30 30
TR A B aXa=— A i I wE [ 30 30
AETE SRR 1 - ()% - WAk - FEETE) | 18 30 30
PETE SR BAN 1 -@ (1 MR - ST Em - R/ | 1 60 60
AETE AR AN - i 30 30
AT AR B AR AETE AR HAN 1-@ i 60 60
AETE AR HAN T-O i 60 60
I AEE SR II T 60 60
[ NG RBEANIV (72T e T4 —E ) | 60 60
JriEEE 1-O T 30 30
It i SO T 60 60
IR 11 HE 60 60
NHERATHE 1 HE 60 60
Il A s R GTEE 1 HE 30 30
N ARSI (22 2E0F9E) HE 30 30
N#EE 1-O eSS 80 80
st ﬁl\‘%t;?;? 1-© e 152 152
NHEE1-O eSS 32 32
=S e 192 192
/o EE(1,260) 1,326 712 614
- ZIAEMBIEDULLA 1 s 60 60
Z[zoALNBIEDLL A ZIAEDLIEDLL AT Hisis 30 30
9 ? ZIALHLEDLL A | 30 30
< 2 FE L L OPEF Fs L O PR bt 60 60
7 o s o s SRAIE O PRfR wE | 60 60
T DL i 2 D ER T 60 60
7 7k (300) 300 120 180
= (" ERR T 1 A | 68 68
" Eredl H |60 50
) N EF (50) 128 68 60
& (1,850) 2,024 1,050 o

2,024




I $HOKE
(3) HU%a5L%

Q@FMIEE WM FEEE <NEEULH>

KEBENELHHEENBYET . (BRIRISTER)

SHEAR 1 BER

4R 5A 6A 7H 8H 9A
A | A 114 4 | 248 | A |HER i VE | 24 | A [#ERA 174 | 248 | B |BER 174 VE [ 268 | B[ WER 114 VE | 24 | A |#ERA 174 | 24
1|k e @ @|1|B 1| % 12 12| 1| @ RS T (@ e | o | g | B 00 |8
2| K 2| & 3(3|2|A8 8| 8|2|K 12|12 2| x B2 2| N e (148) BE| 7
3| K |AEt ) Aspst 3| * |Fwwan 3|k 8| 8|3|K 121123 | A B3 3| K 8
4| & |Hv=rr—var (w4 | B |&EVoR 4 | JK |G n 4| & 13| 13| 4| B |razs1-emeen [BO| 1 | 4| K 9
5 + 5B |zcvon 5| K 8|8 |5|x 5| B®| 2 |5|%& 10
6| A 6| N |mEvor (EEAR) 6| % 9|1 9(6|B 6| 7K B®| 3 |6|x
7| A | 1] 7]k 5|5 |7|% 7| B (FHL OFERCE D g a2 | 7 | K e - oneen o) B 4 | 7| B
8| N 101]8|K 4| 48| B 8|k m| | 1313 8| & 8| A 11
9| kK 111 ]9|% 41 4|9|A 91 9]9|kK x| [13]13]e] £ 9|k 12
10| K 11 |10 & 10 K 9| 9|10 K " 1313 (10| H 10| 7K 13
1| £ 111 |11 8 1)K 9 | 9|11 & |mrRETHA FHE | 11| B |28 onmesmens| M1 1] K 14
12| 12| B |emsmamecsss® | 5 | 5 | 12| K 9|9 12| &£ 12 K 2| D|12| & 15
13 H 13 N 5|5 |13 &€ 10| 10[13| B 13 7K 3| @ | 13| &
14| B |pigeans mr 2| 2 |14] 7k 6 | 6 |14| L |Ewa HEE | 14| B |munwmms cesmw | 13| 13 14| K 4| @ | 14| B
15| W 2| 2 [15] K 5| 5|15 8 15| e |Ematse 14| 14|15 & |5 1 - Omien o || @ 15| B |ackon 16
16| 7K 2| 2 |16] & 5| 5 | 16| B | n FiwB8 | 16| K [Emnm 14 | 14 | 16| = 16 N 17
17 K 2|2 (17| X 17| K 10| 10 [ 17| K [Emas 14|14 (17| B 17| 7K 18
18| g |WEDIL W ekl 18| B 18] 7k 10| 10| 18| & |Emam 141418 B gﬁ%”ﬂ”“@**&*ﬁ% 165 | 18| K 19
19| £ (2N 19 B |1 otz o | 6| 6 |19 K 10|10 f19] £ 19] K 166 19 & 20
2o =S . 20| X 6|6 |20 & 1111 |20| B 20| 7K 7 20| +
21| B 3| 3|21 7K 717 (21| X 21| B [or 21| K it} 21| B
2| K 3| 3|22 K 6|6 |28 22| %ﬁgg 22| & |58 1M 240) w9l 1 |22| B 21
23| 7K 3|3 |23|%& 6| 6|23 B 10 | 10 | 23| /K w| [ 15|15 [23| & 23| N (B oR 22
24| K 3|3 (24| & 24| N 1111 | 24| K 2 15115 (24| H 24| 7K 23
25| & 2| 2|25 H 25| 7K 11|11 |25| & 15|15 (25| A #E10| 2 |25 K 24
2| T 26| B |2iEs G 717 |28] K 1] 11| 26| & 26| ) min| 3 |26 & BT e i
27 A 27| W 7172711 & 121227\ B 27| 7K W12| 4 | 27| £
28| B 4| 4 |28| %k 8| 8|28 £ 28| B [t TR @5 1 45| 15 | 28] &k ap ok 5 gg| B
29| W |mmon 29| K 717|208 20| W W[ 15| 15 20| S |71 @FEEE O ég 6 | 20| B |=uusmims omn ig
30| 7K 4| 4 |30 717 (3|8 1111 |30| 7k 30| & 30| N
31| & 31| AR [ - Rt 26 =




I #HOHE
(3) h)FxasL%

QBMIERE % FFEAE <NEEUH> XTELNELIBENHYET ., IBFRICTER) SH7EAR1BER
10AR 1A 12R 18 2R 3R

A 7 UE | 248 | B | MR 7 U | 2 | B ren 74 Vg |26 | B (WA i v | 26 | B e 7 1 | 248 | B WA 7 U | 24

1| JK | s 1 1| & 11 A 8| 7| 1|XK|xn 1 118

2| K 111]2|H8 2| 8|8 |2|& 2 | B |emas 14|14 | 2| B 7

3| & 111 |38]| A |xkon 3| 7K 99 |3|x 3| N |EmRR () 15 | 14| 3 | N |zt 8

4| £ 4| W |AmAa G®|l@|4|K 10104 H 4K 15[ 15| 4| 7K 9

5| H 5| 7K 5|(5|5|% 71715|AH X 15115 5| K 10

6| B 1] 1]6]|K 6|6 |6|x 6| N %hl 6| & 15| 15| 6 | & 11

A 111]7|% 5015 (7|H 7| K [AmRm 5 o|7|x 7|+

8| 7k 21 |8[x 8| A 9| 8|8|XK %4 8| H 8| H

o| K 2| 2|9|H oK 9|99l 1|1|e| B 15[ 15| o | A [FEL 2mmaz0m ik

10| & |mriEnmne A 0] B 6| 5 |10k 10 | 10 [10| £ 10| s sy 7 (1) BE|15[10] & 12

1| + 1| 5| 5 | 11| K [mamprinae | T gsli] B 11| 7k [emEzsn 1] 7k 13

12| B 12| 7k 66|12 % 8 | 8 12| B |Aon 12| K [BEEEELS e ||| 12| K 14

13| B |»#—von 13| K 710718 £ 13| X 12| 12 | 13| & [ KRS | 13| € |zt 15 | #2=

14| 2| 2 | 14| & [HEREOR 14| H 14| 7K 1212 (14| = 14| &

15| 7K |AmER#RaE) @ 2 |158] & 15| B 10 9 [ 15| K 12112 |15| H 15| B

16| K 3|3 |6l B 16| X | | 10| 10| 16| & 12|12 16| A |FEO7ZUT T E | 6] B 16

E3

17| & 2| 2|17| B 716 [17|5K o [ 111117 & 17| N e eE|EE| 17| X 17

18] + 18] 6|6 |18 K " 1 e 5] 18| gk |LEFH @ Oy 18] 7K 18

19 B 19| 7K 7|7 (19| % 9 | 9|19 B |FHL @R O 142 12 [19) K 2 19 & 19

20 B |H#E® Gm) 3|2 [2fK 8| 8 20| = 20| 13| 13| 20| & 3 20| € [EHron 20

21| W 3|3 (21| 6| 6|21 B 21| 7K 13| 13|21 & 21| =

22| 7K 3| 3|22 & 22| A 1110 |22| K 13|13 |22| A 22| B

23| K 4 | 4 |23| B @R 23| W 11| 11| 23| & |tkik (248) 13 23| B |K&mER 23| A |=BFHE0HE %F‘(ﬁ

ul & 3| 3 |2af B |PPEHON GREHE 24| 7K | @ m 2| + 24| e |z 4 24| e |smwammnn %) |8

5| + 25| &k ARAEIES 25| B |[mus 25| K [ERizpmuace® WL 95| 5k

26| H 26| 7K 8| 8|2 & 26| A 13| 13| 26| K 5 26| K [itefrsE

27| B |25 xmms 4|3 l7| K 9|9 l27| £ 21| e | ) ®|27| & 6 27| &

28| W 4| 4|28 & INELLE L | F| |28 B 28| 7K [t 14| 14 | 28| £ 28| +

29| 7K 4 | 4 (29| = 29 B 29| K |EMamB 14 | 14 29| H

30| K 51| 5 [3]|H 30| Wk 30| & |iEmam 14 | 14 30| A

31| & 4| 4 31| 7K 31| £ 31| N




I ZHOHF
(83) hFas5L%E

QERHHM (HERAEMSKIE. BERUHEHE)

o HE mA HE
EERAETILAR 44K RET R 4&
AEBRIER & EEEZFARERE, BHRE 31m
BRARANY R 8K mAAmE—L 4%
®BEARY I+ 18 REIEE—K 4=
RAZA4T14TR—FK, Ty b 18 REXBERE—AK 4=
BT 2& WEEFIEFOIY 8&
5 551 148 ®BIFIEETIL 4k
ALY Fr— B REXRBIRET L 4K
e OHE 25{& i it A B R R A A — = 3=
HITHBI DX 27K ARERIFERY 14K
BAREDR 64

R B4 H Rt
B - TEEAL T ERBEI~2 SRR bR
AR E RS ELHTOAR el
=A@ RE2025 SRILITER
g = NEELTEREEI~10 AR H bR
CCHENDEDLLH (&H - MERILLTERBEIT~14 A SRR R
ERNTT = - NEEL T EREES 3R AR bR




